Fortified GHD

- ®
KingsBox
BUILDING BETTER HUMANS



PART DESCRITION SIZE |QTY
3 Hex Bolt Mi12x85 | 4
4 Hex Bolt M12x90 | 4
5 Hex Bolt M12X100 | 2
9 Washer @12 20
11 Aircraft Nut M12 10




VI
<o
@]

o
N
ol sl =

=
Z
o |5
=9l oZ
|0 Gl
Cw ®| ©
QTS|
@) <
T
Li<t| o=
o




PART DESCRITION SIZE |QTY
1 Baffle4 @68x5 4

8 Sunk Screw M8x35 4




PART| DESCRITION SIZE QTY
7 Allen Bolt M8X20 8




V|
_n|u421m6
2l8
o[ 2| w©
E%XMQQ
n|=|NL|ol=
2=
(7]
=
)
e
2| ||?
= 9| 9| ®| ©|Z
Sf
Ol %[ x|=| G|l ©
IR
AT|T|¥=|
@) o| |
n
X
)
T
i
-
Z|N|w(olo| =
a




